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Listing 1: 00 O00O0ODOOOOODOO

#include <stdlib .h>
#include <cmath>
#include <iostream>

using namespace std ;

int main ()

{
double a=1.;
double b=—4.;
double c=-—1;
double d=4;

double x_init=-—3.;
double dx_init=10.;
int iter_max=20;
double threshold=1le—6;

double xl=x_init;
double fxl=ax*(xl*xlxx1)+bx(x1l*x1)+cxxl+d;

double x2=x1+4+dx_init ;
double fx2=a*(x2#x2%x2)+b*(x2+x2)+cxkx24d;

if (fx1*fx2>0.){
cout<<"#_The_signs_of_fx1l_and_.fx2_are_indentical.\n”;
exit (0);

}s

if (abs(fxl)<threshold){
cout<<x1<<”\n”;




exit (0);

b

if (abs(fx2)<threshold){
cout<<x2<<”\n”;
exit (0);

)

double x3,fx3;
for (int i=0;i<iter_-max;i++){
x3=(x14x2)*0.5;
fx3=a*(x3+x3%xx3)+b*(x3*x3)+c*x3+d;
if (abs(fx3)<threshold)break;
if (fx1%fx3<0.){
x2=x3;
fx2=fx3;
telse{
x1=x3;
fx1=fx3;
Iz
I

cout<<x3<<”\n” ;

return 0;

}s

000000000ax®+b2’24+cx+d=0000000000000000
00000000 x4init 0000000000000 00000O0DO0 dx.init000000000O000O0
0000000000000 00000000000000000000000000000000000x_initD
dx_init 0000000000000 00000000000000000000000000000000000
00000000000000000000000000000000000000000 itermax000000
0000000D000000000000000000000000000000O threshold0000000000
00000MO0O000000000000000000000000D0000000 abs0000000O0O0ODOD
0000000000000 00000000000000000DDD00000000000000o0onono
oooooooooo

goooooooooooooooooooooboooooooooooooooon

obooooobodo r000o0booboon f(xl)DDDDDDDDijDDDD f(x)DDDDDDDDD
000 f(zx)=00000 0000000000000 0COOO0O0OOOOODOO0ODO 2., 0000000O0OO
Ogo00ooo0oooooooooooobooono

f(x1) (1)
f(z1)
ogod0ooo0oooooooboooooooobooooboooooooboooooOooooOoobobooOooooOooooOoooao
ogooooooooooooooooooobooooooooooboooooOooooOooobooOooooOooooOoooo
gooooooooooooooooooooooooobooobooboboboobooboooooooooboooooboobooboobobo
Oo0ooooooooooooooooooooooooooooooooo0oo0ooo0oooooooooogo o
ogod0oooooooooobooooooooboooboooooooboooooOooooOooobooOooooOoooooooo
Ogo00ooo0oooooooooooooooooooooboooboooooooom

To=x1 —Ax =11 —

Fig. 22 0000000 OOO

oobooooobooobooooooobooooboooooobooobboOoooo 1oboobooobobooooo
gboooboooooboobobooobooboooobobooooobooboobobooooon




[DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD )

O00000000000 -000000Newton-Raphson methodDODOODODOO0DOO0DOOODDOOOO
00000000000000000000001'0 p.2390000(00

00 [e,b) 0000 f(z)0 20000000 f”(z)>0000 f(a)0 f(b))00000000000000000
0 (a,) 0000 10 f(z)=0000000000

00000f(xg) >000000 [e,b)00 2000000000000 OOOOOOOOOOOUOOOUOOOOOO

00000000000000 f(z)<00000000 f(z) <000000 [e,b]00 200000000000
ooooooboooooon

goon

1] 0000000000000 00000 Mooo0oooo0oomooooooo.

Ttokyo



